QID:101 -

[n the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Arafafea vy d o o Rereul & @ wy B
(?) & TAT W AR A FEA H GRATI
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Options:
1) 20

2)19
3)16

4)18
Correct Answer: 19
Candidate Answer: 19

QID:102-
How many triangles are there in the given figure?

& 7g Apla A feaat e 82
\

Options:
1)8

2)12
3)10

47
Correct Answer: 12
Candidate Answer: 12



QID:103 -

A word is represented by only one set of numbers as given in any one of
the allernatives. The sets of numbers given in the allernatives are
represented by two classes of alphabets as shown in the given twe
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-ll are numbered from & to 8. A letier from these matrces can
be represented first by its row and next by its column, for example, ‘A’ can
be represented by 24, 95, etc., and ‘M’ can be represenled by 11, 60, etc.
Similarly, you have to idenlify the set for the word “RAIN".

U SFEG el U E-UEp gRI gl IR § Sar fF faweul F @
frdl R & e §) faenedt 3 Rw o gmm-weg el & g 9
gRT i e §, Shr fR Rw oTw o snegEl A ¥ aimeyed T it
O B EE 0 F 4 § 3 g H 5 d 901 3T YR ¥ wh HeW
H Ugel 3R GRF N A 9 TOE T gRT g S Tehar B
3GIENOT o oI A’ F 24, 95, 371G R GRIAT S HWehel & dqar ‘M’ i 11,
66, e GRT g o Fhar &1 T e T TR oF A BT k=
“RAIN" & T IW[F I Ul &

Matrix-I Matrix-Il

ey el
0(1]12]3|4 5|6|7|8]|9
O0|R|(CIW|G]| I 5|0|K|D|F|X
1TKIMIC|Q| S 6|G|M| NIH|V
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3|F|H|J|L|N 8|C|F|W|L|R
41A|R|T|IV|X 9|A|S|UIN|P

Options:
1) 41,95, 69, 86

2) 00,24, 04,98
3) 89, 40, 88, 30

4) 86,02, 32,31
Correct Answer: 00, 24, 04, 98
Candidate Answer: 00, 24, 04, 98

QID:104-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& TE 39 il # ¥ 3W s ATHE @ gaw
T & vy el Bfea &

B e e N e TR o e o, R



Options:

1)

Correct Answer:

Candidate Answer:

QID: 105 -

Which answer figure will complete the pattern in the
guestion figure?

Fa W saT Wy gl & ufaww @ q@
HYETT?




Options:
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Correct Answer:

&

Candidate Answer:

A

QID : 106 -

If & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

ufg mR gUUT @ AB TaT WX @l &, ar & i
T WEEA # § @i O HGE TN HHA A
T ufafesa arefi?
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QID: 107 -

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?
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Correct Answer:

Candidate Answer:

QID : 108 - If 'P' means '+, 'Q' means '=', 'R' means '+ and 'S' means 'x', then
1R33S11P4=7
afe 'P' o1 31ef '+, 'Q" T 312 '~ 'R’ T 31ef '+ qur 'S @t 3nef X' gl

1MR33S11P4=?
Options:

1) 23/3

2)13/3

3)21/3

4) 26/3

Correct Answer: 23/3
Candidate Answer: 21/3

QID:109-1f12#3@2=38and14 @2 #3=20,then4#3@1="?

A 12#3@2=38qM14@2#3=208,A4#3@1="7
Options:

115

2) 11

3)13

4)16

Correct Answer: 13

Candidate Answer: 13




QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Brain
2. Boast
3. Brail
4. Broom
5. Boom

Frfafea areel ol ereaenler § 1 arct e & SrgaR o

1. Brain
2. Boast
3. Brail
4. Broom
5. Boom

Options:
1) 25134

2) 25314
3) 25341

4) 25431

Correct Answer: 25314

Candidate Answer: 25314

QID : 111 - In the following question, select the missing number from the given series.
3,6,11,18,?

Freafafea wyr § Ry g Rl d @ g sie 3 HifSigl

3,6,11,18,?

Options:
1) 27

2) 28
3)26

4) 31
Correct Answer: 27
Candidate Answer: 27

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AC, FH, KM, ?
ek SrhH o e &, fod @ ues ug g &1 Ry e faehedt & @ ag wel fReney 9T, St orgshd ol gy Rl

AC, FH, KM, ?
Options:

1) PQ

2) PR

3)PS

4)Qs
Correct Answer: PR
Candidate Answer: PR

QID : 113 - In the following question, select the odd word from the given alternatives.

Frafafed vy § g g et § & fawe ez o6t gl

Options:
1) Father
forar

2) Mother
AT

3) Brother

Rl

4) Sister-in-law
areft

Correct Answer: Sister-in-law
oreft

Candidate Answer: Sister-in-law




QID : 114 - In the following question, select the odd number pair from the given alternatives.

Frafafea wer § Ry g et & & fwe w9 g a0t gfw)

Options:
1)9-25

2) 49 - 81
3)121-179

4) 25 - 49
Correct Answer: 121 - 179
Candidate Answer: 121 - 179

QID : 115 - In the following question, select the odd letters from the given alternatives.

Frafefed wer 7 g 71q ferea 7 & fawe sieRi @ gAg)

Options:
1) AEI

2) PTX
3) CGK

4) MQT
Correct Answer: MQT
Candidate Answer: MQT

QID : 116 - Identify the diagram that best represents the relationship among the given classes.

Vegetable, Peas, Orange
T8 o g it A g g it & offr & Seier ot Tt AT shear 81

Options:

1)

2

@
©
QD

Correct Answer:

@




Candidate Answer:

@

QID : 117 - In the following question, select the related word from the given alternatives.

Chair: Sit::Bed:?

Frafafed wy 3 Ry g Rereal § @ Gaifda g @ gfgl
Gl : ST e ?

Options:

1) Wood

RS

2) Iron

<itgT

3) Sleep

|

4) Mattress
TET

Correct Answer: Sleep

Candidate Answer: Sleep

QID : 118 - In the following question, select the related number from the given alternatives.
12:169::14:?

Fafafed wy 3 Ry 1y Rl § @ Gaifda gem & gl

12:169::14:?

Options:

1) 125

2) 225

3) 625

4) 425
Correct Answer: 225
Candidate Answer: 225

QID : 119 - In the following question, select the related letters from the given alternatives.
DAM:FCO::PEN:?

Frafafed wsr A g 7Tq fAeneal 7 & Hefda sieri @t g

DAM:FCO::PEN:?

Options:

1) RGP

2) RGQ

3) RFP

4) RFQ
Correct Answer: RGP
Candidate Answer: RGP

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
ACCOMPLISHED
fafafea et & & ag reg gfAg it iy 7y 21eg & 1erR et UaiRT @eeh T8 ST S Fehdl

ACCOMPLISHED




Options:
1) SHED

2) SLIM
3) READS

4) DISH
Correct Answer: READS
Candidate Answer: READS

QID : 121 - Amit and Chintu starts from same point and walks 20 km in opposite directions to each other. Amit turns left and walks 20 km. Chintu turns left and walks
20 km. How far (in km) are they from each other?

T o foig ge &t foig @ ToT 9T o € au aal faodia e # 20 fo#ft. =rerdt €1 arfve ameff ok ea 20 oAt arcter 81 foig amf ok e 20 fFlt. saar g1 S g g &
fonert gt (Re.aft. #) 82

Options:
1) 80

2) 40v2
3) 160

4) 80v2
Correct Answer: 40v2
Candidate Answer: 40v2

QID : 122 - Present ages of X and Y are in the ratio 5 : 6 respectively. After seven years this ratio becomes 6 : 7. What is the present age (in years) of X?

X TATY I TAM TG ShHR: 5 : 6 S SIgUTd § §1 61 I8 UTd Tg SIUTd 6 : 7 B S 1 X Y aeiw iy (s #) g2
Options:

1)35

2) 42

3) 49

4) 28
Correct Answer: 35
Candidate Answer: 35

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All cups are plates.
1. All plates are blue.

Conclusions:

I. All cups are blue.
Il. Some plates are cups.

2 U Y ve1 # 35 Y SR Ik a1G 37 Yl WR SR o Fseny &Y 1Y 8, gTetifch I8 AT A1d a2 § f¥aar gt Gerd! &1 g+l fsend ug ofk fihe Faffa & fos kg Mg @l
§ fsen, fg 7Tq sl o SNYR TR gRheTd 81

Y

| gft o wie &1
1. goft we Hieht 81

fArsepef:

| &t sy et E1

. & we &u &l

Options:

1) Only conclusion (1) follows.
Shae fem (1) Tgt 21

2) Only conclusion (ll) follows.
et e (11) Tt &1

3) Both conclusion follow.
21 & e Tt 81

4) Neither conclusion (1) nor conclusion (Il) follows.
Fat e (1) =1 & et (1) @@ 21

Correct Answer: Both conclusion follow.

21 & fred @@t 81

- — —
e e e e W) /



Candidate Answer: Both conclusion follow.

3 & Frene @it &1

QID : 124 - In a certain code language, "YOUR" is written as "ZPVS". How is "WITH" written in that code language?

Ueh fAfAE @te 9mwr §, "YOUR" &l "ZPVS" forar SiTtdT 81 39 hi |Ten & "WITH" <h! fong UrenR ferar sirgem?

Options:
1) XKUJ

2) XJUI
3) YJU

4) WJUI
Correct Answer: XJUI
Candidate Answer: XJUI

QID : 125 - In a certain code language, "CAR" is written as "22" and "EAR" is written as "24". How is "SIT" written in that code language?

ek fAfIE @te o §, "CAR" @t "22" T "EAR" Y 24" forRaT SiTar &1 39 hte umur & "SIT" ol fh UenR ferar strgem?
Options:

1) 47

2) 48

3) 49

4) 50
Correct Answer: 48
Candidate Answer: 48

QID : 126 - How many positive factors of 333 are there?

333 & oA gFTcHe: UFES 82
Options:

1)5

2)8

3)6

4)9
Correct Answer: 6
Candidate Answer: 6

QID : 127 - What is the value of 603 x 5977

603 x 597 T {1 T §?

Options:

1) 359991
2) 359997
3) 360003
4) 359996

Correct Answer: 359991
Candidate Answer: 359991

QID : 128 - How many multiples of 7 are there from 1 to 100 which are not multiples of 4?

1§ 100 de 7 & QY fohet puret & it 4 & ot =& 82

Options:
1)14

2)11
3)10

4)12
Correct Answer: 11
Candidate Answer: 11




QID : 129 - Which of the following statement/statements is/are true?

I. Odd x Even = Odd
II. Odd x Odd = Even

FeaffRed s I/ s 9 §?

I fows x g = v
1. fawe x fowe = g7
Options:

1) Only |

et |

2) Only Il

e Il
3)Bothland Il
T 11 gt

4) Neither | nor Il
Jariagn

Correct Answer: Neither | nor Il
aaragn

Candidate Answer: Neither | nor Il
aariagn

QID : 130 - What is the remainder when 622 is divided by 13?

e 622 @t 13 T Rt foram Siwan &, af Swohet o ghm?
Options:

1)2

2)11

3)9

417
Correct Answer: 11
Candidate Answer: 11

QID : 131 - Which of the following number is not divisible by 4?

e # & @ o der 4 & fRvrsa 78 82

Options:
1) 325752

2) 111184
3) 222264

4) 444410
Correct Answer: 444410
Candidate Answer: 444410

QID : 132 - A can do a piece of work in 24 days. He worked for 6 days and B finished the remaining work in 12 days. B alone can do the whole work in how many
days?

A foreft opref et 24 R & e Fene 81 I 6 T ahmed foam e <iw ahmd B 7 12 i & gy fam) B ardhen qR onrf it fovet it o g1 o wemar 82
Options:

1)12

2)16

3)18

4) 24

Correct Answer: 16

Candidate Answer: 16

QID : 133 - 1f 3/7!" of a cistern is filled in 36 minute, then what is the time (in minutes) needed to fill the remaining part?

Tfg & a1 3/7-at 1 36 fime F oR 1A 8, 9t 9 §Y T @Rt oA H TR we (e /) @k
Options:

1) 48

2) 42

3) 44

4) 52

Correct Answer: 48

Candidate Answer: 48




QID : 134 - If the ratio of the volume of two cubes is 125 : 27, then what is the ratio of their edges?

& &) ol & STraal ol iU 125 : 27 8, At IhT SISl ol SIuTd I 87

Options:
1)5:3

2)5:9

3)25:9

4)125:27

Correct Answer: 5:3

Candidate Answer: 5:3

QID : 135 - The marked price of an article is Rs 720 and is sold at a discount of Rs 108. What is the discount percentage?

e g o1 Sifchd ged 720 % 8 1 I8 108 % Y e R 391 971aT 8| B ufawd &/ a?

Options:
115

2)10

3)12

4)18

Correct Answer: 15
Candidate Answer: 15

QID : 136 - The marked price of an article is Rs 950. A shopkeeper gives a discount of 10% and still makes a profit of 80%. What is the cost price (in Rs) of the article?

e a%g T Sifchd e 950 T 81 Gk GaRIMER 10% Y g a1 & a fthe +ff a8 80% o1 @14 SATAT & | 3% o 5hd 1T (3 H) T 82

Options:
1) 425

2) 450
3) 400

4) 475
Correct Answer: 475
Candidate Answer: 475

QID : 137 - Two numbers are in ratio 2: 7. If their difference is 80, then what is the smallest number?

3} HeTsiT o STguTa 2 : 7 81 afE SeTeRT SieR 80 2, 7 T Bidl Wee w1 §?

Options:
1)18

2) 24

3)16

4) 32

Correct Answer: 32

Candidate Answer: 32

QID : 138 - If 2A = 5B = 10C, then whatis A: B : C?

g 2A=5B=10C g, dTA:B:CFg?

Options:
1)2:5:10

2)5:2:1
3)2:5:3

41:2:3
Correct Answer: 5:2: 1
Candidate Answer: 5:2:1

QID : 139 - The average of 35 numbers is 6. The average of the first 18 numbers is 4 and the average of the last 18 numbers be 9. What is the value of middle
number?

35 Terail T Sfiad 6 81 T 18 TAT3l ohl 3iad 4 T Sifad 18 Gerail T siiad 9 1 7ed Tt ohl J1H T 87




Options:
1) 21

2)24
3)27
418

Correct Answer: 24
Candidate Answer: 24

QID : 140 - If the ratio of the cost price and selling price of an article is 5 : 4, then what will be the loss percentage?

IS Yep a¥g o ohd Ted a1 fasha e ol S1guTd 5 4 §, af g1f ufaera e ghm?
Options:
1) 20

2)25
3)30
4)50

Correct Answer: 20
Candidate Answer: 20

QID : 141 - If the profit is 25%, then what will be the ratio of cost price to selling price respectively?

Tfe AT 25% €, I AL T He TUT Ak Yo T STUTd RIT gIIT?
Options:

1)3:4

2)4:5

3)2:3

4)5:6
Correct Answer: 4: 5
Candidate Answer: 4:5

QID : 142 - When 120 is subtracted from 70% of a number, the result is 90. What is the value of the number?

forlt T &6 70% | @ 120 e wR uRRuma 90 SI1AT 81 T AT |7 9T 82
Options:

1) 300

2) 280

3) 450

4) 270
Correct Answer: 300
Candidate Answer: 300

QID : 143 - If one-third of a number is 75, then what will be the 80% of that number?

Tfe; fonlt T o1 gep-feTs 75 8, ot S W 1 80% 4T giT?
Options:

1) 180

2) 240

3) 270

4) 360
Correct Answer: 180
Candidate Answer: 180

QID : 144 - Keshav can cover a certain distance in 12 hours if he walks at the rate of 8 km/hr. If he covers the same distance by train at the rate of 16 km/hr, then what
is the time (in hours) taken by him?

&g I 8 fh.Y./ger & i & I at 98 Yo Fida o 12 9 # 70 9= ThaT §1 A I8 Fa1 I termrel § 16 6.#1./ger &t i § aa a, df 39 fena=n w7 (|t H) @hm?

Options:
1)3
2)5
3)6
4)9

Cnrrarnt Ancwar: A




Candidate Answer: 6

QID : 145 - If 350 meters long train takes 14 seconds to cross a pole, then what is the speed (in km/hr) of the train?

Tfe gep 350 Hiex Tt SRS Ueh W Tl UR Shet o foIg 14 YhUs il &, af Iormrel &t 11t (s #1./eier #) aam &2

Options:

1) 54

2)72

3)90

4) 36

Correct Answer: 90
Candidate Answer: 90

QID : 146 - A sum was invested for 7 years at a certain annual rate of simple interest. If the interest rate is increased by 8%, then the interest increases by Rs 2240.
What is the sum (in Rs) invested?
Tk 4RI sarst <ht el anftfer er @ 7 el & forg wnerRor saret vk Rder Y St 81 afs et a2 8% & a1 § WY, §Y et 2240 3§ g A 81 R & v omRif (3 F) @ d?

Options:
1) 3500
2) 4000
3) 5000
4) 6000

Correct Answer: 4000
Candidate Answer: 4000

QID: 147 -

The bar chart given below shows the number of four-
wheelers stolen in two cities A and B from the years
2008 to 2015,

& faT T ave By & ¥ 2008 @ 2015 F@ & aed
AT B H =8 gu ufen awdl @ §Ea @ gt

T E

OCity A/AET A O City B/ B
gy $g 5 358
Q. Yo + =+ TO
® 400 - 5 [18 g_ 23 =T ODF
& ¢ s 5l s
2. 2 B
2 & 300 15[
=
F & 200 4
g
S E 100 -
o
gﬁq 0 T T T T T T T 1
= ® QL - N 0T W
52 S8t s :Z:E

o [} N o N (ot} o™ (o]
Year/a¥

In which year, the total number of four-wheelers stolen was maximum?

fora af &, 91 g dafean areHi S gt e g atfdes 82

Options:
1) 2010

2) 2013
3) 2015

4) 2009
Correct Answer: 2013

—
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QID:148 -
The bar chart given below shows the number of four-
wheelers stolen in two cities A and B from the years
2008 to 2015,

2 BT o 2oz By # 9% 2008 B 2015 IF & e
ATu B # @Y gu iufr el & W= @ @R

I gl

OCityA/e®TA O CityB/w B
EE 507§ 8 3 I, g 9
Q Yo v = TO o«
% F 400 - 28 1 88 [T an 4
£ & SN 1 2 o | &
2, 20 N
gE 300 &
K
F & 200 4
s
= E 100 -
i
gﬁq 0 T T T T T T T 1
(= ® ¥ e - o © % »
ég i; & 0 o © o o o O

(] [ (o] o N N ™ (o]
Year /a9

In city A, the percentage change in the number of four-wheelers stolen in two consecutive years is maximum in which year?

R A H, FHHNTA & ST # 919 §Q AT are i S A Hfierd uRacd fond oy & siftienaw 82

Options:
1) 2009

2) 2011
3) 2012

4) 2013
Correct Answer: 2009
Candidate Answer: 2009

— — _—
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QID:149 -

The bar chart given below shows the number of four-
wheelers stolen in two cities A and B from the years
2008 to 2015.

Ry R o zuz A & ¥ 2008 | 2015 F g ey
ATuBHA =If gu =il argar & s @ i
AT Bl

OCityA/eeIA O City B/ B
EE 5007 § g o J. g O
[=] T Y _ = + & =
‘a‘ 400 > e ] %% =T mF
0 45 < 1210 3| o 8| 2
2. 2 N
gE 300 &
=
F & 200 -
o
< E 100 |
it
g ﬁq 0 T T T T T T T 1
£ ® g e = o o % ©
E% S & o © o o © o

o o o o [at] (o] o (o]
Year / a¥

The number of four-wheelers stolen in city B is what percent of that of city A in 2014 ?

T 2014 & g B & 9Kt gg Fufgar arg-i Y e 2rex A o1 fohaar nfasa 82

Options:
1) 83.33

2)120
3)77.77

4) 128.57
Correct Answer: 120
Candidate Answer: 83.33

— S —
e e e e W) /



QID:150 -

The bar chart given below shows the number of four-
wheelers stolen in two cities A and B from the years
2008 to 2015.

Ry R o zuz A & ¥ 2008 | 2015 F g ey
ATuBHA =If gu =il argar & s @ i

I E

OCityA/SEXA O City B/ B
EE 5007 § g o J. g O
[=I Yo v g O
7] 400 - %_%R %% & om mF
0 g5 s 11210 Al 9 3| 2
2, 2o B
s T 300 5y
£
F & 200 -
3
< EF 100 -
°
gﬁ"’ 0 T T T T T T T 1
= ® @ o - o 2 F ©
E% O &6 0o © o o o o

o o o™ o N (o] o (o]
Year /a9

What is the average number of four-wheelers stolen in city A in the given period?

& ¢ Irafdy 7, weR A H =9 gy dufear argAl i Sfud S /i g?

Options:
1) 358

2) 364
3)376

4) 396
Correct Answer: 376
Candidate Answer: 376

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select ‘No Error'.

It was also claim that the players (1)/ were confused with drastic changes (2)/ in the strategy of every match (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 1

Candidate Answer: 1

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Tension prevail late on Friday after (1)/ angry protesters pelted stones at the police, (2)/ torched vehicles and vandalized public property (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 1

— — _—
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QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Sunita was musing
Options:

1) on

2) off

3) for

4)to

Correct Answer: on
Candidate Answer: on

memories of the past.

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Karishma has not been able to recall where
Options:
1) did she lived

2) does she lived
3) lived her

4) she lived
Correct Answer: she lived
Candidate Answer: she lived

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Bewitched
Options:
1) Disgusting

2) Captivated
3) Turn of

4) Prevent
Correct Answer: Captivated
Candidate Answer: Disgusting

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.
Commotion

Options:

1) Fuss

2) Calm

3) Silence

4) Quiet
Correct Answer: Fuss
Candidate Answer: Fuss

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Chagrin
Options:
1) Embarrassment

2) Delight
3) Pleasure

4) Happiness
Correct Answer: Embarrassment
Candidate Answer: Embarrassment

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Arid

B e e N e TR o e o, R



Options:
1) Fertile

2) Desert
3) Thirsty

4) Dusty
Correct Answer: Fertile
Candidate Answer: Fertile

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Circuitous
Options:
1) Circular

2) Direct
3) Long way

4) Roundabout
Correct Answer: Direct
Candidate Answer: Direct

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Apposite
Options:
1) Suitable

2) Inappropriate
3) Timely

4) Relevant
Correct Answer: Inappropriate
Candidate Answer: Inappropriate

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

On the wrong side of sixty
Options:

1) To be inexperienced

2) To be older than sixty
3) To be able to convince
4) To be unsuitable

Correct Answer: To be older than sixty
Candidate Answer: To be older than sixty

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

A cakewalk

Options:

1) Leisurely walk

2) Romantic walk

3) Long drive

4) Something very easy

Correct Answer: Something very easy

Candidate Answer: Something very easy

QID : 163 - Improve the bracketed part of the sentence.

The Finance Minister has acknowledged that the challenge before the government now (are to work out) both policy and investment measures to boost momentum.
Options:

1) were to work out

2) will to work out

3) is to work out

4) No improvement
Correct Answer: is to work out
Candidate Answer: is to work out

B e e N e TR o e o, R



QID : 164 - Improve the bracketed part of the sentence.

For a change, performance, and not political expedience, (seem to have) dictated the nature and extent of theshuffle in the Council of Ministers.
Options:
1) seemingly has

2) seems to have
3) seemed to

4) No improvement
Correct Answer: seems to have
Candidate Answer: seems to have

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Words which are opposite in meaning
Options:
1) Synonym

2) Antonym
3) Homonym

4) Pseudonym
Correct Answer: Antonym
Candidate Answer: Antonym

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Happening every second year
Options:

1) Bilingual

2) Aerial

3) Binomial

4) Biennial
Correct Answer: Biennial
Candidate Answer: Biennial

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Accedent

2) Akcident
3) Accident

4) Acciant
Correct Answer: Accident
Candidate Answer: Accident

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:
1) Acomplish

2) Accomplish
3) Akcomplish

4) Accomplesh
Correct Answer: Accomplish
Candidate Answer: Accomplish

QID : 169 - Rearrange the parts of the sentence in correct order.

Small scale industry

P: and marketing of output

Q: for procuring raw material
R: needs government's support

B e e N e TR o e o, R



Options:
1) PQR

2) RQP
3) QRP

4) QPR
Correct Answer: RQP
Candidate Answer: RQP

QID : 170 - Rearrange the parts of the sentence in correct order.

Sapna, a small

P: on her three

Q: acres of land

R: farmer, grows groundnuts

Options:
1) RPQ
2) RQP
3) PQR

4) PRQ
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the
the
performed

side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

"the side of religion.
Options:
1) funny

2) active
3) observe

4) social
Correct Answer: active
Candidate Answer: social

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
the of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
performed other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

to______ empirical entities
Options:

1) super

2) beautiful

3) related

4) indifferent

Correct Answer: super

Candidate Answer: super

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
the _____ of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
performed other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

as the
Options:

1) reminding
2) weaning
3) wearing
4) gearing

of special clothing and the immersion

- — —
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Correct Answer: wearing
Candidate Answer: wearing

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
the _____ of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
performed other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

performed
Options:
1) with

other people and in public.

2) from
3)at

4) of
Correct Answer: with
Candidate Answer: with

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Religious ritual is "the side of religion. It is behaviour with reference to empirical entities and sacred- objects". It includes any kind of behavior (such as
the _____ of special clothing and the immersion in certain rivers, in the Ganga for instance), prayers, hymns, creedal recitations, and other forms of reverence, usually
performed other people and in public. It can include singing, dancing, weeping, crawling, starving, feasting, etc. Failure to perform these acts is considered a

these acts is considered a
Options:
1) honour

2) pride
3) fun

4) sin
Correct Answer: sin
Candidate Answer: sin

QID : 176 - Tax on import is an example of which among the following?

ST R I Fr=fefed d 4 forgen Segrorg?

Options:

1) Foreign trade

s R

2) Trade Barrier

IR SRy

3) Economic growth
e

4) Globalisation

Correct Answer: Trade Barrier
R a=Ie

Candidate Answer: Economic growth
aniffen femma

QID : 177 - What are the things which people seek besides income in economy?

I. equal treatment
Il. Freedom
IIl. Security

SrefezererT § 31 o SIATaT AN} GIRT AT chY ST dTel! =to) 87

[. SR ITAR
11. 3eéY
111, Fremw

B e e N e TR o e o, R



Options:
1) onlyl
&ae |

2) only I
o
3)Both Il &I
11 e 111 €=t
4)AILI&IN
I, 1L i goft

Correct Answer: All |, 11 & IlI
I, 1L 1 eft

Candidate Answer: All I, 11 & I1
I, 1l 1 sft

QID : 178 - Fundamental Rights is enumerated in which part of Indian Constitution?

AR e & frg s 7 Hiferes siflerR aftta 82

Options:
1) Part |
AT |

2) Part Il
il

3) Part Il
AT il
4) Part IV
IV

Correct Answer: Part Ill
AT I

Candidate Answer: Part Ill
AT I

QID : 179 - Democracy is a form of government in which rulers are_____ by the people.

ilehdist QMY T Ueh Q9T 34 §, frad umes, @i gRT____ ST 81
Options:

1) Nominated

i forar

2) Elected

3) not elected

T

4) not selected

Correct Answer: Elected
g

Candidate Answer: Elected
g

QID : 180 - When was the Permanent Settlement introduced by the East India Company?

S $far ot g et detasd s ARy ferat ma ar?
Options:
1) 1793
2) 1765
3)1776

4) 1765
Correct Answer: 1793
Candidate Answer: 1765

QID : 181 - Jahangir was married to whom?

SRR foherh @y fanfga o2
Options:
1) Mehrunissa

2) Hazrat Mahal

BoRd A

3) Jodha Bai

Ster s

4) None of these
EEIEEE

Correct Answer: Mehrunissa




Candidate Answer: Hazrat Mahal
BoRd Hgel

QID : 182 - 66% degrees north latitude marks what?

667 SIST ITT &I T <:ATaT &7

Options:
1) Tropic of Cancer
ek @M

2) Tropic of Capricorn
TR @
3) Arctic Circle

IR Y (ki) ga

4) Antarctic Circle

afayor g (sferféer) ga

Correct Answer: Arctic Circle
IR Y (i) ga

Candidate Answer: Tropic of Cancer

QID : 183 - What is the duration of cold weather season (winter) in India?

IR H &3 & Haw (I<T) Fi rafdy 7 82

Options:
1) March to May
ard &

2) October and November

SFEER § TIWR

3) December to February
BTG

4) June to September
A @ Rawr

Correct Answer: December to February
BRacH]

Candidate Answer: December to February

QID : 184 - Which of the following is/are Abiotic components?

I. Rocks
1. Plants
111, Soil

frfafea § & & € oria acen 82

L =g
L. wef

. &g

Options:
1) Only |
e |

2) Only 11
Shaet Il

3) Both l'and IlI
| o 111 g1t

4) Allllland I
gt |, 11Tl

Correct Answer: Both | and IlI

| e 111 &=t

Candidate Answer: Both | and Il
| o Il &=

QID : 185 - The hardest part of a tooth is the .

e & T RORAT MR gl
Options:
1) Gumline

2) Iénamel

3) Pulp
ool
4) Root
=




Correct Answer: Enamel

Candidate Answer: Enamel

QID : 186 - Lungs have a large number of alveoli for

RSl H arRgeRtST Y Ueh aSt Tt ur} STt &1

Options:

1) having spongy texture and proper shape

ARl ot TSt FTTe 3R TR TR & & g

2) more surface area for diffusion of gases

AT 3 RreRuT 29 Sifvies gagt 85 & forg

3) more space for increasing volume of inspired air
Freanfa ary & sed gu A & forg arfde o= &g

4) more nerve supply

Sifives dfenT Sy o

Correct Answer: more surface area for diffusion of gases

T & fareRon &g s1fde Jagl &9 & forg

Candidate Answer: more surfaac;e area for diffusion of gases

forereoT 2 ot

QID : 187 - When do the magnets loose their properties?

Y&k 31U T[0T e @l 3 &2
Options:

1) On heating

™ &R )

2) On hammering
R

3) On dropping from some height
3arE & iR oM R

4) All options are correct

Foff fepear ;

Correct Answer: All options are correct

it RpeT gl &

Candidate Answer: On hammering

ERIER R i

QID : 188 - What is the distance covered by an object in unit time called?

foreft areg g1 TeRTeh T H T <l TS ) Rt T ket €7
Options:

1) Force

CC)

2) Speed

EIE|

3) Motion

M

4) Acceleration

ROT

Correct Answer: Speed
EIS!

Candidate Answer: Speed
el

QID : 189 - What does an information becomes after input into a computer?

HYR T FIYC & S1& DR T Thgelldl 57

Options:
1) Program
D

2) Software
Al

3) Hardware
4) Data
ST

Correct Answer: Data
3fferst

Candidate Answer: Data
iepgt

s e e e I



QID : 190 - The process of converting gas into liquid on cooling is called

EST Tt R =l ol 39 H Igerm ohi ufehar et el ST g1

Options:
1) Evaporation

2) Condensation
kst

3) Diffusion
farw=or

4) Sublimation

Iedura

Correct Answer: Condensation
eqor

Candidate Answer: Condensation
equr

QID : 191 - CO5 turns lime water milky, due to the formation of .

€O, & 1S 3 SHROT T o U Y 0T I e gl

Options:
1) Cay0,

2) CaCO;4
3) Ca(OH),

4) Ca202
Correct Answer: CaCO3
Candidate Answer: Ca;0,

QID : 192 - Which among the following is not a natural ecosystem?

Pl & & i a1 v uregioe aRds 781 82

Options:
1) Forest
qq

2) Pond
BISIC)

3) Lake
EI

4) Gardens
it

Correct Answer: Gardens

Candidate Answer: Gardens

QID : 193 - Which among the following are the basic services provided under Smart Cities Plan?

Fraffea # @ & & T R dtemT & siavia g gfiand &2

Options:
1) Adequate water supply
STel <l STYfet

2) Assured electric supply
S Smyfet

3) Sanitation, including solid waste management
ST Y Aiea Tewodr

4) All are basic services

A aedt e glaeg &

Correct Answer: All are basic services

3 goft et gRend &

Candidate Answer: All are basic services

i oo gy &

QID : 194 - Who invented Stethoscope?
TR T SR fonert foram?




Options:

1) David Bushnell
e e

2) James Watt
S ate

3) James Harrison
S e

4) Rene Laennac
Correct Answer: Rene Laennac

Candidate Answer: [ NOT ANSWERED ]

QID : 195 - Who was the first Indian women to scale the Mount Everest?

ST QaRE WR A alelt HuH YR Afger et of?
Options:

1) Bachhendri Pal

EEERCH

2) Chhurim Sherpa

2T Rt

3) Anshu Jamsenpa

3 SHLITT

4) Anita Kundu

ST Hg

Correct Answer: Bachhendri Pal
ISl are

Candidate Answer: Bachhendri Pal

EEERNC]
QID : 196 - Shirts, trousers, skirts etc were brought to India in the eighteenth century by whom?

ST, eI, The aTTfe; TR # sroRedT Srare & fhadh gRT oy g 97

Options:
1) Europeans

2) Mongols
e

3) Afghans
SR

4) Turks
Correct Answer: Europeans

Candidate Answer: Europeans

QID : 197 - Who among the following is not a recipient of Dronacharya Award 2017?

fFafafea & @ S gomard qResr 2017 1 urdadhal T8l 82
Options:

1) Dr. R Gandhi

1. 3R, mieft

2) Sardar Singh

TR R¥ig

3) Roshan Lal

RIS AT

4) G.S.S.V Prasad

Sit. 9. oo, Y. we

Correct Answer: Sardar Singh
R g

Candidate Answer: [ NOT ANSWERED ]

QID : 198 - Who is the author of book named "Essays on Gita"?

Options:

1) Bal Gangadhar Tilak
Tl TMTER

2) Ayub Khan

g @t

3) Indira Gandhi

Fiezr iR

4) Aurobindo Ghosh
SRfeel gy




Correct Answer: Aurobindo Ghosh

Candidate Answer: Ayub Khan
SIg @t

QID : 199 - Which among the following is an annual conference of geopolitics and geo-economics held in New Delhi?

e # & @ a1 75 Reeh A S et i 3fR of-31efImest 1 anfties ater 82

Options:

1) Shangri-la Dialogue

STRT-aT arat

2) Hague code

FIETS

3) Raisina Dialogue

T araf

4) Petrapole dialogue
araf

Correct Answer: Raisina Dialogue

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - Arun-lIl Hydro Electric Project is to be set up in which neighbouring country of India?
R & et TSl 3T 7 STl BTSS! S ferces URATSIT i TITGHT Y ST 87

Options:

1) Myanmar
AR

2) Bangladesh

<7
3) Afghanistan
ST
4) Nepal
Hur
Correct Answer: Nepal

Candidate Answer: Nepal



